Integration
[image: image1.png]1. Write arctanz = 1 -arctanz to find [ arctanz dz.

Find the integrals in Exercises 2-29.
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[image: image4.png]Evaluate the integrals in Exercises 30-37 both exactly [e.g.
In(3)] and numerically [e.g. In(37) ~ 2.243]:
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[image: image6.png]1. Write arctanz = 1-arctan to find [ arctanx dz.

Find the integrals in Exercises 2-29.
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[image: image8.png]38. For each of the following integrals, indicate whether in-
tegration by substitution or integration by parts is more
appropriate. Do not evaluate the integrals.
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[image: image9.png]41. Compute [ cos® 6 d6 in two different ways and explain
any differences in the form of your answers. (The identity




[image: image10.png]cos” 6 = (1 + cos 26) /2 may be useful.)




[image: image11.png]42. Use integration by parts twice to find f €” sinxdzx.




[image: image12.png]Use the given substitution in Exercises 20-22.
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[image: image14.png]Calculate the integrals in Problems 32-49.
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[image: image16.png]Find the exact area of the regions in Problems 50-55.




[image: image17.png]54. Boundedby y = 1/V2? +9,y =0,z =0,z = 3.




